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KENDRIYA VIDYALAYA AFS, BAGDOGRA 

PT-1 SAMPLE TEST PAPER 2019-20 

SUBJECT: MATHEMATICS  CLASS: III 

TIME: 90 MINUTES  MAX. MARKS: 50 

INSTRUCTIONS: 

1. All questions are compulsory. 

2. Write the answer in the space provided in the booklet itself. 

 

NAME: ___________________________________ SEC:________________ ROLL NO: ______________ 

 

INVIGILATOR’S SIGN: _________________________     MARKS OBTAINED: _____________________ 

 

EXAMINER’S SIGN: _____________________ 

 KNOWLEDGE   

 

 

VSA  

 

   1  

 

 

 Circle             the picture , which  is from the front  view.

                     

 

  1M 



2 
 

                        

 

 

2 

 

 

 Write length of a tree . 

    ( less than 1 metre or more than 1 metre) 

____________________________________________________ 

 

 

1M 

 

 

3 

 

Jump two steps forward. 

102 ,104,106,108,___________ 

 

 

 

1M 

 

  4 

 

 

 

 Jump two steps backward- 

 100 , 98 , 96,94,____________ 

 

1M 



3 
 

 

 

5 

 

Draw side  view  of  a  table. 

 

 

 

 

1M 

 

  6 

Choose the correct answer. 

Waist  of  an  elephant  will  be  in … ?  (  metre /  centimetre ) 

____________________________________ 

 

SA 

 

  1M 

 

     7 

 

 

 

 

 

Using a dotted line divide following figures into two similar halves. 

 

 

 

 

 

 

2M 

 

8 

 

 

 

Add the  following . 

a. 200+ 60+6 = ______ 

 

b. 100 + 70 + 7 =_______ 

 

 

2M 



4 
 

 LA  

 

9 

 

 

Match the write answers. 

 

a. Height of a child                                     2 kilometres  

 

b. Width of a nail                                         5 metres 

 

c. Length of a saree                                    1  metre 

 

d .   Distance from home to school                  1  centimetre 

 

 

 

 

 

 

4M 

  

UNDERSTANDING 

 

  

 

VSA 

 

 

10 

 

Draw    a    10  centimetre  line. 

 

 

 

  1M 

 

 

 

   11 

 

 

Convert   the following- 

1 metre  =   ________________  centimetre 

 

 

 

1M 

 

 

12 

 

Draw  a  triangle . 

 

 

 

 

1M 



5 
 

 

 

 

 

 

13 

 

Solve it – 

500 - 200  =  ___________ 

 

 

 

1M 

  

SA 

 

 

 

     14 

  

Do  this- 

a. 20 and 40 more is  ___________. 

 

b. 22 less  than 66 is _____________. 

 

 

2M 

 

 

  15 

 

Use the dot grid given below to draw your own designs .( any two) 
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2M 



6 
 

  

ABILITY  TO COMPUTE 

 

   VSA  

 

 

  17 

 

Solve the following. 

345 + 10  =________ 

 

 

 

1M 

 

   18 

 

Fill in the blank. 

50+ 9  =    ____ + 50 

 

 

 

1M 

 

 

     19 

 

Counting in 100’s 

100, 200 , 300 , _________  ,   ____________ 

 

 

1M 

 

 

   16 

 

How many runs do these players need to complete a century. 

  Players        Runs scored Runs need  to  complete 

a century 

 

Player 1 

 

 93 

 

 

________________ 

 

Player 2 

 

  97 

 

 

________________ 

 

Player 3 

 

  89 

 

________________ 

 

Player 4 

 

   99 

 

 

________________ 

 

 

 

 

 

4M 



7 
 

 

 

 

  20 

 

Add the following . 

200 m + 100 m =  ___________ 

 

 

1M 

 SA  

 

 

21 

 

 

 

 

 

 

 

 

 

 

22 

Write  the words by looking at their halves. 

 

 

 

a._____________________   b._______________________ 

 

 How many  are  these- 

_____________________ 

 

 

 

 

 

2M 



8 
 

_________________ 2M 

 LA  

 

23 

 

A teacher kept a note of which fruits students like in her school . 

Now  compete the table and write answer the following questions- 

Students  Oranges Mangoes Total 

 

Girls 136 240  

_____ 

Boys 128 243  

_____ 

Total 

 

 

________ 

483  

_____ 

 

 

a.How  manygirls are there in school ?        _______________ 

 

b. How many boys are there in school ?           _______________ 

 

c. Write the total number of students there in school .    __________ 

d . How many  studentslike oranges ?                _____________________ 

PROBLEM SOLVING ABILITY 

 

 

    4M 

 VSA  

   



9 
 

  24 Answer the following. 

2 + 20 makes ___________ 

 

1M 

 

 

  25 

Who am I  ? 

I am equal to five notes of 10.  

 

 

1M 

 

 

26 

 

Measure and write the length of card . 

 

 

 

 

 

 

1M 

 

27 

 

  

Fill in the blanks. 

400 runs   =  ____________ century 

 

 

1M 

 SA  

 

   

28 

 

 

 

A  factory  made 270 bulbs on the first day . On the second day it made 123 bulbs . 

How many bulbs did the factory make altogether ? 

 

 

 

 

 

2M 



10 
 

_____________________________   bulbs 

 

29 Place the cards in the right box. 

 

 

  +                                     = 

 

 

 

 

2M 

 

 

30 

 

 

 

 

 

Radhika ,Gauri, Vicky , Indira and Sunil were collecting imli seeds. 

 

Look at the above pictures and fill in the blanks. 

 

 

  4M 

50 30 20 

20 



11 
 

 

a._________________ collected the most seeds . 

 

b.___________________ needs  3 more seeds to have 50. 

 

c. How many children have more than 40 seeds ? 

 

 __________________ 

 

d . Sunil will collect  _______________  more seeds to be equal to  

 

Vicky . 

 


